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1)
a) cosa=052 y «aesagudo.
a =arccos(0°52)=586677
sen @ =0'8542
tg a=16426
Lunes, 18 de mayo.
b) tg ﬁz% y @ es agudo.
B =arctg (%) =67"3801
sen = 12 _ 09231
13
5
cos f=—
p 13
2)

radio

r
sen 25°= %; 12 sen 25°= g; F=2.12-sen 25°= 10°1428cm

Con esa abertura puede trazarse una circunferencia de radio 1071428 cm.
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tg56°=£ — x=ytg 56°
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tg 42°=
& 50—y

ytg 56°
(50-y)

50tg 42°=y tg 42°+y tg 56°

tg 42°=

50 tg 42°

50tg 42°= y (tg 42°+tg 56°), y=
8 (g 8 ) tg 42°+tg 56°

x=— 2018427 L s60_ 280093m
tg 42°+tg 56°

La anchura del rio es de 280093 m

. (50— y)1g 42°= ytg 56°; 501tg 42°—y tg 42°= y tg 56°
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